Unit 3 Worksheet 2

Find f’'(x) for each of the following.

1.

f () =4x° cosx

f'(x) = 4x3(—sin x) +12x” cos X

f'(x) = —4x>sin x +12x° cos X

f'(x) =12x° cos x —4x°sin x

f(x)=
£/(x) =
f/(x) =
f/(x) =

X5

tan x

tan x-5x* — x®sec? x

5x* tan x — x> sec’® x

(tan x)*

x*(5tan x — xsec? x)

tan? x

tan? x

f (X) =sin x + cotx

f'(X) = cos X —csc? X

f (X) =sin x cosx
f'(x) = sin x-(~sin x)+cos x-cos x

f'(x) = —sin® X+ cos® x
f'(x) = cos® x —sin® x

f(x) =

sin X
eX

or

or
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f'(x) = 4x* (3cos x — xsin x)

f'(x) = cos (2x)



10.

X

*.cos x—sinx-e
e f

e*cos x—e*sinx

Fr(x) ==

==
, e*(cos x —sinx
() - (008 X-sinx)
e
F(x) = CoS x;smx
e

f (x) =8x® —cosx + tan x
f'(x) = 24x* — (—sin X) + sec® x
f'(X) = 24x* +sin x + sec® x

f (X) =secx +15x>
f'(x) =secx tan x + 30x

f(x) = (3x—1)* cot x
f'(x) =(8x—1)*-—csc” x+4(3x—1)*-3-(cot x)
f'(x) = —(3x—1)°[(3x —1)(csc? X) —12cot X]

f (x) =8x%secx
f'(x) =8x%sec xtan x + 24x*sec X
f'(x) =8x*sec x(xtan x + 3)

3x°
CSCX
csc x-15x* —3x® (— csc xcotx)
csc” X
15x* csc X + 3x° csc xcotx
csc? X
3x* csc x (5 + xcotx)
csc” X
_ 3x*(5+ xcotx)
B CSC X

f(x)=

£'(x) =

f(x) =

£'(x) =

f'(x)



11, f(x)= tanxcscx

_ 51 74( ___/___
5=
FEx) = Seex

13, F(x)= secx
cscx
FE) = T
UD/’() = fanx
Ty T Ty
= X
@ Sec%—~>

_ [ tanx . cotx
= f(x)_(sech [cscx)
IG)= ( oo ’wﬁ

FC9) =
f[x)ﬁ .S‘lnk'(“S(ﬂ)c) + Cos)c(cosk)

S rA x Cos X

x .
sinx
a2
A= cos™s |
FO9 = (calretsms)
S'h;] b
SOx) = A = esex

Mﬂmﬂ“a

@t —esCx Colr< >
19, f(x)= (1+ smxm

COSX

JC(X):: _L:.S‘/nj}f_

Cos

2
= Cos X
Cos X

RO cos><
G\'(x) = ~Sin x‘)

( 65 X s !;T;x()
LS X 7

/(ej

12, f(x)=cotxcos® x + cotxsin® x

S = FOZLY(C@SX/r/@’m/"X)
f(x) = CGL/"X

QJD(X/_ —esc” x/

14, f(x)=cotxsecxsin”x
. 50'1’2)6

Cosx /
\7[\[)? S;’ - g@?‘x /
F x)_ = ms‘/'n X

@ f( x) = (30%_:5

16. f(x)= sec xsin’ xcotx+cos xXsecx

5!ﬂ X, Lo cw‘ix
=557 RV
F) = ?fmx + oS X

C_ jvvﬂ.mc)<—

18,  f{x)=tan’xcsc’ xcosx

s 1 gesX
flx) = C)})f s,ﬂﬂx 7
jr(x) = Ces X
;C(x)’ sec i

QJF (x) ~ SeC X Z[Z“rzk

20, f()="
SINX —COSX _

f/xj ( -—(05‘)()(5!0}{-{-(05"()

sin® x —cos’ x

(5/4 X s ><)

(af X — 5!.%). >f/\

(S9-
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